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1. Decompose the following objects. Include the dimensions of all components.

a) b)

30 cm

8 cm

24 cm

2. Joeis making a mailbox, as shown. Calculate the amount of metal requlred not including
the flag and top catch. Include the bottom.
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4. The cylindrical post of the table (below left) is 15 cm in diameter. Calculate the surface area
of thetable (excluding the bottom of the base).
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_5. Each step is the same size in the pet stairs above (right). Determine the amount of carpet

needed to cover all but the bottom of the structure.
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6. The table below will be stained on all surfaces except the bottom of the legs. What is the
area of the surface that will be stained? ‘ ‘
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